As other end.

As other end.

As other end.

| 14 ] A e —
1] ——r  L_ _TI 1.
o S
/W S / S
Splice. R Splice. ™
] J
i
- —
| 0=
s :
S 200x75 N 200x75
N 400 max. crs. <}l< 400 max. crs.
X 5 ]
S S
N 152x152x23 UC hanger
| suspended from
‘ ‘ uc ridge beam.
‘ Water tank platform
suspended from ridge beam.
Ej
Allow for eith heni ‘ ‘ \I\ \I\
ow for either strengt ening —
or replacing "damaged" \ ‘ ,_ _| - _,_
mansard rafters - subject to | | Ll e ' — L]

opening up and inspection.

450x100x150 thk. concrete spreader
with 2/M10 x 150 long H.D. bolts
cast in position + 2No HD straps

- similar to DETAIL B.

Shaped timber plate
bolted M 10 bolts at 600 crs.
to top of UC beam.

Mansard rafters secured to
UC beam with Expamet

al
-y

203x203x60 U

675x100x225 thk. concrete spreader

with 2/M10 x 150 long H.D. bolts
cast in position + 2No HD straps
B -see DETAIL B.

O

ROOF PLAN

Scale: 1:50

Framing Anchors MFAC. >
2
g Raft d with
Continuous timber infill plates T Ea ters supp Oljte wit
5 xpamet Maxi Speedy hangers
bolted together through web of g MS44075. All fullv nailed
UC with M12 at 600 crs. Plates é" ' 4 '
to fit tight]y in between Hanges ,%0 203x203 UC
and flash with flange edges. 3
TYPICAL Lg
Q DETAIL A
Sbowjng timberwork
Scale: 1:25
240x220x20 thk. end plates
F welded 6mm FPFW and bolted
together 4/M20 bolts.
=
vy
L g
203x203 UC 203x203 UC
o - Ge
H R
H 3
I

300

j kel

240x220x20 thk. end plates

2

l

450x100x150 thk. concrete spreader
with 2/M10 x 150 long H.D. bolts
cast in position + 2No HD straps

- similar to DETAIL B.

Continuous timber infill plates
bolted together through web of
UC with M12 at 600 crs. Plates
to fit tightly in between flanges

and flash with flange edges.

215 thk. concrete spreader with
2/M10 x 150 Iong H.D. bolts

welded 6mm FPFW and bolte
together 4/M20 bolts.

SPLICE DETAIL C

2No 30x5x1200/100 HD
ga]vanised straps per spreader.

Each bend over spreader p]ugged

Rafters supported with
Expamet Maxi Speedy hangers
MS44075. All ful]y nailed.

/ 203x203 UC

.vu;

TYPICAL

DETAIL B

O

Sbowing timberwork
Scale: 1:25

203x203 UC \

T
73

cast in position.

and screwed 3 times to concrete
spreader and 5 times to brickwork.

O

SECTION D-D

O

O

For Beam 203x203 UC

Scale: 1:10

Scale: 1:10

DETAIL B

Sbowjng HD straps

Scale: 1:25

DETAIL A

/ Existing 175x50 ridge beam

SECTION 1-1

As existing
Scale: 1:50

O

DETAIL B
203x203 UC

2,

\%

203x203 UC

M.
aNsard ., fters

raﬂtefs XI&@'D
_110x59 Existing|125x50 170,
EXiSUng _— Trussed purlin i “alterg
Existing ceiling joists Existing ceiling joists ™ Ty ussed purlin
Inclined struts
Load-bearing stud supporting fidge.
partition. \
N
Existing joists Load-bearing stud Existing joists
partition. \
N

203x203 UC

,IBSUQW

NOTES:

1. For general notes see drawing R10930/101.

STATUS:

PRELIMINARY

Existing joists EXisting joists

Load—bearing stud
partition.

Q SECTION 1-1
As proposed

Scale: 1:50

u 203x203 UC N

203x160x12 thk. head
plate, 6mm FPFW,
4/M16 with Iocking nt

215 thk. concrete
spreader.

Welded connection. H

152x152 UCh;gz/

152x152 UC

150 thk. concrete
spreader.

O

SECTION 2-2

Scale: 1:25

BY / DATE: |REVISIONS:

LETTER:

CONSULTING ENGINEERS

Studio 6

Bickerton House

25 Bickerton Road

London N19 5]T

Telephone 020-7272-0562

Email info(@jamdavbell.co.uk

www.jamdavbell.co.uk

JAMPEL DAVISON & BELL

ARCHITECT:

STUDIO GLYN

PROJECT:

6 ELSWORTHY TERRACE
NW3

TITLE:

GENERAL ARRANGEMENT
ROOF AND SECTIONS

SCALES: 1.50, 1:25, I:IO@AI

BY: D W CHECKED:
DATE: NOV. '1 6 DATE:
JOB No: DRAWING No: REVISION:

R10930 103 -




